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BOILF W A H & 0o/ 0 — 0.008 ~ 0.027 4,/ 4 0.016
B koW & A K #E <0.01 <0.01, 0, 6 <0.01|<0.006 ~ 0.032 1, 6 0.032
I 163 M K B A | <0001 0.01 3, 6 0.0l 0.024 ~ 0.063 6, 6 0.052
" BAMAKILA A <001 0.01 8,12 0.01| 0.012 ~ 0.072 12 /12 0.046
I | A KB A B <0001 <0.01 0,/ 6 <0.01|<0.005 ~ 0.043 5, 6 0.024
B I ERINAF A B 0.07 0.21 6,/ 6 0.14| 0.11 ~ 0.28 6,/ 6 0.19
I ERINAF A FH | 0.03 0.20 12 /12 0.12| 0.087 ~ 0.37 12 /12 0.24
I PRI A WA Ed 0,01 0.15 6 / 6 0.06| 0.028~ 0.27 6, 6 0.13
" N N & 0.02 0.06 12 /12 0.03| 0.040 ~ 0.17 12 /12 0.095
" ARG HKEAB 0,02 0.04 6, 6 0.03] 0.064 ~ 0.17 6, 6 0.11
Z RE By % 0.0l 0.04 6,/ 6 0.02| 0.081 ~ 0.19 6,/ 6 0.13
Yoo/ I e /I HE i <0001 <0.01 0, 6 <0.01| 0.009 ~ 0.024 6,/ 6 0.017
i JI & W B O <0.01 <0.01 0,12 <0.01|<0.005 ~ 0.034 10 /12 0.017
A% B OAK % OB o <01 <0.01 0,12 <0.01| <0.005 ~ 0.039 9,12 0.015
FHIJITR X )1 K 0,/ 0 — ]<0.00l ~ 0.009 1, 2 0.009
BN F i = Y 4E <o.01 <0.01 0,/ 4 <0.01| 0.006 ~ 0.019 4,/ 4 0.012
wOR R R Il ks <0.01 <0.01 0, 4 <0.01| 0.009 ~ 0.021 4,/ 4 0.015
BT R % 3 &  <0.01 <0.01, 0, 4 <0.01[<0.0056 ~ 0.014 3,/ 4 0.010
HTIMTWH H#F A K & <0.01 <0.01, 0, 4 <0.01[<0.005 ~ 0.005 1, 4 0.005
& B o & B Il <o.01 <0.01, 0, 4 <0.01[<0.005 ~ 0.007 1,/ 4 0.007
?E;}t}f%@x}i% g I3 % <0.01 <0.01, 0, 4 <0.01[<0.005 ~ 0.013 3, 4 0.009
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